Of| thM (AR E)

AT - A
0 (600) At St 1 (610) Y4
Mg (611) AEgR4 2 : (02) 7HH8steEAER chol  H9)
= ogue | GRS | B2
= & o
3,932,461 2,963,497 968,964
3,932,461 2,963,497 968,964
600 AtA%=2l 3,932,461 2,963,497| 968,964
610 & ! 626,000 599,000 27,000
611 AFBR$Y 610,000 580,000 30,000
02 JHHB3I4CARR 270,000 250,000 20,000
O714& 270,000,000¥ = 270,000
06 YUHtRolLTCAIRE 330,000 320,000 10,000
O Yurs 330,000,000% = 330,000
08 CIEYEH4+ZAIER 10,000 10,000 0
OU3EE 10,000,000 = 10,000
661 7[EtIY+ 16,000 19,000 /3,000
02 7IEMAtERS 16,000 19,000 £3,000
OekA|srR 16,000,000& = 16,000
670 FYels 3,306,461 2,364,497 941,964
671 02442 10,000 15,000 5,000
01 Oz02t+¢Y 10,000 15,000 25,000
O 3303 0 Y 10,000,000& = 10,000
672 ElAXYLZS 3,296,461 | 2,349,497 | 946,964
01 Yuts|AHUZ 3,296,461 | 2,349,497 | 946,964
O Ytts|A M= 3,296,461,000& = 3,296,461




QO LM (At E)
A A
& (100) A=A g (170) A2 Yoia4Y
Mg (171) Aldedsa = (0D Ad=Eead (Ehel - M)
= = oAty | AEE [ <o
Z-Yg-HNY-S - O At o ° =
e 2l 14,642,652 | 12,042,934 2,599,718
Q2| 14,642,652 | 12,042,934 2,599,718
100 2224 14,642,652 | 12,042,934 2,599,718
170 A=2doz+Y 14,542,652 11,982,934 2,559,718
171 A8RE3SY 300,000 240,000 60,000
01 Aldeg3sd 300,000 240,000 60,000
Ot e 300,000,000 = 300,000
173 ElgAddEz=sY 14,242,652 | 11,742,934 2,499,718
01 InBZIHY 10,979,000 | 5,895,000 | 5,084,000
OYYS sh+HZ FHIAY 6,795,000,0009 = 6,795,000
O8sYd osl+2= YHAHY 2,493,000,000 = 2,493,000
OYFS si+HZ ZHIAS 2E) 500,000,000% = 500,000
O8sdt s0E Ot=dter YHIAMY 130,000,000 = 130,000
0L 5012 OISt E YHIAY 239,000,0009 = 239,000
OYtSH 5012 OISstE YHIAY 169,000,0008 = 169,000
OYgHE 5012 OISt E YHIAY 153,000,0008 = 153,000
OYYS shr=d| SHB2Y FHlAY 500,000,0009 = 500,000
02 ERAdEEZRS+Y 3,205,652 5,691,934 | 12,486,282
Oogee|AdYs 3,205,652,000¥ = 3,205,652
03 Al=H|EZ34Y 58,000 156,000 498,000
O& &Y 5012 OISstE HIAY 11,000,0008 = 11,000
0Z&4d s0{E DtSdtek YHIAY 20,000,000 = 20,000
OYHSH 5012 OISt = YHIAY 14,000,000% = 14,000
OHYHE 50i2 OISst+E YHIAKY 13,000,0008 = 13,000
180 RE23 100,000 60,000 40,000
181 &MAYN= 100,000 60,000 40,000
01 =MAYo= 100,000 60,000 40,000
O &MAYZ 100,000,0008 = 100,000






